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Do not open this booklet until you are told to do so. While you arewaiting, write your name and index number
in the spaces provided at the top right-hand corner of this bookletand thereafier, read the following instructions

carefully.

1.  Use HB pencil throughout.
2. If you have got a blank answer sheet, complete its top section as follows.

(a) In the space marked Name, write in capital letters your surname followed by your other names.
(b) In the spaces marked Examination, Year, Subject and Paper, write “WASSCE’, ‘2011 NOV.’,

‘GENERAL MATHEMATICS/MATHEMATICS (CORE)’ and ‘1’, respectively.

(c) In the box marked /ndex Number, write your index number vertically in the spaces on the left-hand
side. There are numbered spaces in line with each digit. Shade carefully the space with the same

number as each digit.

(d) Inthe box marked Paper Code, write the digits 402112 in the spaces on the left-hand side. Shade the

corresponding numbered spaces in the same way as for your index number.
(e) In the box marked Sex, shade the space marked M if you are male, or F if you are female.

3. If you have got a pre-printed answer sheet, check that the details are correctly printed, as described in

2 above. In the boxes marked /ndex Number, Paper Code and Sex, reshade each of the shaded spaces.

4.  Anexample is given below. This is for a male candidate, whose name is Chukwuma Adekunle CIROMA,
whose index number is 5251102068 and who is offering General Mathematics/Mathematics (Core) 1.
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c03ac1ac23c3acdac5ichac7imbac9a 3. Erase complelely any answers you wish to change.
4. Leave extra spaces blank if the answer spaces provided are more than you need.
For S“P‘“‘f'“’ s only. 5. Do not make any markings across the heavy black marks at the right-hand edge of =
If candidate is absent shade this space: [~ your answer sheet,
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Answer all the questions.
Mathematical tables may be used in any question.
The use of non-programmable, silent and cordless calculator is allowed.

Each question is followed by four options lettered A to D. Find out the correct option for each question
and shade in pencil on your answer sheet the answer space which bears the same letter as the option you have
chosen. Give only one answer to each question. An example is given below.

The ages, in years, of four boys are 10, 12, 14, and 18. What is the average age of the boys?

A. 12 years
B. 12% years
C. 13 years

D. 13% years

The correct answer is 13% years, which is lettered D, and therefore answer space D would be shaded.

[A] [B] [C] e
Think carefully before you shade the answer spaces; erase completely any answer you wish to change.

Do all rough work on this question paper.

Now, answer the following questions.

1. A money lender collects $200 simple interest on a capital after 2 years at 5%. Calculate the capital

invested.

A,  $1,000.00
B. $2,000.00
C. $3,000.00
D. $4,000.00

2. Simplify: log;,225+ 4log, (2 — 2log,(0-6.
A 1
z

B
K. 3
D

1016
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3. Simplify: 5/12 — 44/75 + 3/48.

A. 33
B. 243
€ 243
D. 343

4. A book scller gives 5% discount to a customer who pays-cash. What is the marked price of a book for
which the customer pays N475.007

A. N300.00
B. N400.00
C. N500.00
D. N600.00

5.  Ify varies inversely as the cuberoot of x and y =4 when x = 27, find y when x = 8.

A 6
B. 4
e 3
I 2

n
6.  The nth term of a sequence is %n (-%) . Find the third term.

A. 512
B. -64
C. -32
D. -8

7. If y% of a number n equals &, what is 3% of n?

1016 Turn over



14.

15.

16.

17

1016

Ifx+2y =7 and 4x + 11y = 34, by how much is 3y less than 10?

A.
B.
C,
D.

Solve the equation: 7x? —3x— 10 =0.
A,

B.

3
4
5
7
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In the diagram, P, Q and R are points on a circle with centre O. The chord |[PQ|= 10+/3 cm, Z0SQ=90°

and POQ = 120°. Find |RS)|.

A,
B.
C.
D.

15 ecm

ISx/g cm

25 cm

25x./§ cm

A rectangular tank 82 cm long, 37 em wide and 75 em deep has the same volume as a cylinderical tank,

If the radius of the cylinderical tank is 30 cm, calculate its height.
[ Take T=3-14]

o0 wp

83-00 cm
80-52 cm
52-80 em
50-80 cm

Turn over
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18. A chord PR of a circle, centre O, is 20 cm long. If POR = 120°, calculate the radius of the circle.
A. 160cm
B. 130cm
C.. A1-5¢cm
D. 112cm

19. PQis the diameter of a circle POR. |PR|=9 cm and|RQ| = 12 cm. Calculate the area of the circle.
22

[ Take T = = ]
A. 88-4 cm?
B. 1440 cm?
C. 1768 cm?
D. 2250cm?

20. In an octagon, three of the interior angles are x? cach. Each of the remaining five interior angles is
(16 + x)°. Find the value of x.

A. 102°
B. 105°
o 120°
D. 125°

21.

In the diagram, PSQ and PTR are straight lines, reflex ZSHT =5x, ZHTR =2x and £ZQSH =3x.

Find the value of x.

A, 32°
B. 40°
C. 68
D. 70°

1016



22,

23.
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B
C.
D

30
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R

P
In the figure, PQ//RS. Find the value of the angle marked x.
A.

90°
120°
125°
130°

3

In the diagram, PQ is parallel to SR, ZEQR = 100° and ER bisects ZORS. Find the valuc of x.

7K.

B
.
D

120°
130°
140°
150°

Turn over



24.

25.

26.
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Q R
In the diagram, ST//OR, |PS| = 6 em, |ST| = 8 ¢cm and |QR| = 12 cm. Calculate [SQ)|.
A, b6bcm
B. Sem
C. 4cm
D. 3cm

Find the value of ZTSP in the diagram.

A.

B.
ik
D.

91°
g9°
ik
69°

The bearing of P from Q is N5° W. Find the true bearing of O from P.

A.

B
C.
D

100°
1757
180°
185°
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27. Ifcos p=0-8, evaluate 20 tanpsinp.

A. 6
B 9
€ 12
D. 18

28. A ladder 5 m long leans against a vertical wall. The foot of the ladder is 3 m from the wall on the same
horizontal ground. Calculate, correct to the nearest degree, the angle which the ladder makes with the

wall.

A 35°
B. 37°
C. 38°
D. 39°

29. What is the probability that an event E will surely occur?

A. P(E)=1
B. Pr(E)#0
C. Pr(E)<l
D. Pr(E)>0

The pie chart represents the distribution of 900 undergraduates in a university. Use the information to
answer questions 30 and 31.

30. Calculate the value of x.

A, 36°
B 60°
G 72°
D. 108°

1016 ' Turn over
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8
P
b(/
S pem \T
. 12cm
Q ’ R
In the diagram, ST//OR, |PS| = 6 cm,|ST| =8 cm and |OR| = 12 cm. Calculate [SQ|.
6 cm
5cm
4 cm
3cm

B
C.
D

Find the value of ZTSP in the diagram.

A.

B
93
D

91°
89°
s
69°

The bearing of P from Q is N5° W. Find the true bearing of O from P.

A.

B
C.
D

100°
175°
180°
185°
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31. How many undergraduates arc in Part 3?

A. 100
B. 120
C. 150
D. 180

32. If the mean of 15, x, 18 and 13 is 19, find the median.

A. 150
B. 1535
C. 165
D. 180

33. Aku, Kay and Badu sharc an amount in the ratio 2:5:9 respectively. 1f Badu receives GH¢48.00 more than
Kay, find the amount shared.

A.  GH¢92.00
B. GH¢126.67
C. GH¢153.60
D. GH¢192.00

: : 1 3 1
34, Simplify: 65 -23 F lg-

A 43
B. 41
& 2
D I

3 1 2
35. Simplify: [j; -2y -

2y - 5x
A. 7

3(2y — 5x)
B. 2x2y?

S5x — 2y
& S e

2.2

H, s

I8y — 45X

1016
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In the figure, PS//QR. SR bisccts angle PRQ. 1f ZPST=30°and ZRPQ = 60°, calculate angle x.

A.

B
i
D

105°
100°
95
90°

R Q

In the diagram, RQ is a tangent to the circle, |PS| = |SQ| and £SOR = 50°. Calculate ZSRQ.

A.

B
=
D

30°
397
40°
45°

Two students are selected at random from 5 boys and 4 girls. Find the probability that both are boys.

A.

B.

|3 e e S

oo
—

Turn over



36.

37.

G
oo

1016

https://www.realmina.com

11

In the figure, PS//OR. SR bisects angle PRQ. 1f ZPST=30°and £RPQ = 60°, calculate angle x.

A. 105°
B. 100°
c 9
D 90°
P
R Q

In the diagram, RQ is a tangent to the circle, |PS| = |SQ| and ZSQR = 50°. Calculate ZSRQ.
A, 30°

B. 3%
C. 40°
D. 45°
Two students are selected at random from 5 boys and 4 girls. Find the probability that both are boys.
3
A. 8
2
B. §
3
C. 3
20
D. 31

Turn over
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39, Calculate the perimeter of a quadrant of a circle, radius 10-5 em.

22

[ Take m= =" ]
A. 375cm
B. 360cm
G 325Em
D. 270cm

40. P and Q are two intersecting subsets of a universal set E. Ifn(P) = 25, n(Q) = 20, n(PUQ)’ =5 and
n(E) =40, find n(PNQ).

A5
B. 10
C. 15
D. 20

41. The perpendicular height of a pyramid is 12 m. Ifits base is a square of side 5 m, calculate its volume.

A, 200m3
B. 100m3
£, 80 m3
D 60 m?
42,
X
°
50
Y 7 ! W

In the diagram, WXY is a triangle. | XY| = |XW], |XZ] = |WZ| and £XYZ=150°. Find LXZW.
A 55

B. 65°
e I8
D. 80°

1016
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43. Express the sum of 10-2 and 10-3 in standard form.

A, 10x10°6
B. 1:0x104
C. 1-1x1073
D. 111x102

44. Given thatr = - andx= 2, express r in terms of y, v and w,

w
B. 3y
¢ 1‘2”1
D. 2"‘{,

45. Calculate the length of the diagonal of a square whose area is p cm?.

& i
B. 2.p
& -yl
D. 2p

46. 1f2p? = J and pg =2, find the values of 4.

A 4,4
B. -2,2
g 4%
D. 4,4

1016 Turn over
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Find the value of y in the diagram.
A. 10
B. 15
C. 20
DN 30
Convert 2201, to a base tecn numeral.
A, 128
B, 137
C. 16l
D. 165
5%
-
<t t M e 4
1 2 3 X
\{
Which of the following equations satisfies the linear graph above?
3y=2x-6
B. 2y=-3x+6
C. 3y=2%x+6
D. 2y=3x-6
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50.

O >
4':'_: } 'II'II:TI:'>
-5 -4-3-2-101 234X

[l L L [

Which of the following inequalities is represented by the number line?

x2-5
B. x>-5
C. x<-5
D. x5-5

1016



